UGC NET 2022 PERSIAN

Topic:- 042_PARTA_S2

1)
Who sent +,to India:

J/'TJ_‘,—‘l
uls/:.:‘..gl—2

[Question ID = 3141][Question Description = 101_42_PER_SEP22_S2_QO01]
1. 1 [Option ID = 12561]
2. 2 [Option ID = 12562]
3. 3 [Option ID = 12563]
4. 4 [Option ID = 12564]

Y s S was written in the following language:
L1

Bl -2

Jein =3

Sn=4

[Question ID = 3142][Question Description = 102_42_PER_SEP22_S2_Q02]
1. 1 [Option ID = 12565]
2. 2 [Option ID = 12566]
3. 3 [Option ID = 12567]
4. 4 [Option ID = 12568]

3)

which one of the following Iranian languages has close similarity with Sanskrit
Qsl=1

bl i=2

St =3

Ll 5=4

[Question ID = 3143][Question Description = 103_42_PER_SEP22_S2_Q03]
1. 1 [Option ID = 12569]
2. 2 [Option ID = 12570]
3. 3 [Option ID = 12571]
4. 4 [Option ID = 12572]



! The founder chairman of L-)!,;l._fo);g was:
JLifL?“j—'l

SHASltrag—2

I PR E=3

O

[Question ID = 3144][Question Description = 104_42_PER_SEP22_S2_Q04]
1. 1 [Option ID = 12573]
2. 2 [Option ID = 12574]

3. 3 [Option ID = 12575]
4. 4 [Option ID = 12576]

! The poetic collection of @r// J;y s
18 3=1

AU i-2

A l=3

=4

[Question ID = 3145][Question Description = 105_42_PER_SEP22_S2_Q05]
1. 1 [Option ID = 12577]
2. 2 [Option ID = 12578]
3. 3 [Option ID = 12579]
4. 4 [Option ID = 12580]

¥ mJ of Faiziis a Persian imitation of which Indian epic:
SHad=1

IS AL—2

l::g;rl,r—S

71,04

[Question ID = 3146][Question Description = 106_42_PER_SEP22_S2_Q06]
1. 1 [Option ID = 12581]
2. 2 [Option ID = 12582]
3. 3 [Option ID = 12583]
4. 4 [Option ID = 12584]



7)

,«iﬂ,m(‘fdﬁ" was composed by:
Sl -1
.

[Question ID = 3147][Question Description = 107_42_PER_SEP22_S2_Q07]
1. 1 [Option ID = 12585]
2. 2 [Option ID = 12586]
3. 3 [Option ID = 12587]
4. 4 [Option ID = 12588]

8)

ﬁ?dlgj,j{;:mﬁy:

St By

The above couplet was composed by
Ssbli =1

33 =2

e s@Iu#1ip=3

S bi—4

[Question ID = 3148][Question Description = 108_42_PER_SEP22_S2_Q08]
1 [Option ID = 12589]
2 [Option ID = 12590]
3 [Option ID = 12591]
4 [Option ID = 12592]

AW N =

sl wrote:

ujwlucf-1

[Question ID = 3149][Question Description = 109_42_PER_SEP22_S2_Q09]
1. 1 [Option ID = 12593]
2. 2 [Option ID = 12594]
3. 3 [Option ID = 12595]
4. 4 [Option ID = 12596]



" ;éfﬂv is the Tazkera of:
fm;ﬁq

= A1k =2

éyf Jp;l;—S

SoxgSlnls—4

[Question ID = 3150][Question Description = 110_42_PER_SEP22_S2_Q10]
1. 1 [Option ID = 12597]
2. 2 [Option ID = 12598]
3. 3 [Option ID = 12599]
4. 4 [Option ID = 12600]

Y g SWislP wrotes

Fre=1
:/i-’l:(:éiir—Z

=3

el -4

[Question ID = 3151][Question Description = 111_42_PER_SEP22_S2_Q11]
1. 1 [Option ID = 12601]
2. 2 [Option ID = 12602]
3. 3 [Option ID = 12603]
4. 4 [Option ID = 12604]

" d.u_;lﬁ,éd/,-;'fj Migrated to India during the period of:

A1
Alz=2

L ALE=3
i L4

[Question ID = 3152][Question Description = 112_42_PER_SEP22_S2_Q12]
1. 1 [Option ID = 12605]
2. 2 [Option ID = 12606]
3. 3 [Option ID = 12607]
4. 4 [Option ID = 12608]



" J/Cy o~ the great scholar , was associated with:

7o B =1

(3,821 —2
JoboB21y=3
A B2y =4

[Question ID = 3153][Question Description = 113_42_PER_SEP22_S2_Q13]

1. 1 [Option ID = 12609]
2. 2 [Option ID = 12610]
3. 3 [Option ID = 12611]
4. 4 [Option ID = 12612]

Y u)ﬁL " was written by:
I =1
=2

A =3

Sra—t

[Question ID = 3154][Question Description = 114_42_PER_SEP22_S2_Q14]

1. 1 [Option ID = 12613]
2. 2 [Option ID = 12614]
3. 3 [Option ID = 12615]
4. 4 [Option ID = 12616]

" The tomb of dﬁ/’(ﬁu is situated in the country

JeL1=1
Jellr=2
L4 =3
eJlzl=4

[Question ID = 3155][Question Description = 115_42_PER_SEP22_S2_Q15]

1 [Option ID = 12617]
2 [Option ID = 12618]
3 [Option ID = 12619]
4 [Option ID = 12620]

A W N =



16) 2 i .
L1 is situated in:

e 1=1
Iany =2
lzl=3
Jt P-4

[Question ID = 3156][Question Description = 116_42_PER_SEP22_S2_Q16]

. 1 [Option ID = 12621]
. 2 [Option ID = 12622]

1
2
3. 3 [Option ID = 12623]
4

1

. 4 [option 1D - 12624
" The music teacher of &Sl was:
G170 El—1

J}TJLFI—Z

Solew1=3

UL/.’&WJ/—JL

[Question ID = 3157][Question Description = 117_42_PER_SEP22_S2_Q17]

1
2
3.
4

1

. 1 [Option ID = 12625]
. 2 [Option ID = 12626]
3 [Option ID = 12627]
. 4 [Option ID = 12628]

¥ _LJIZ was written by:
S p=1

S =2

S dJiz=3

=4

[Question ID = 3158][Question Description = 118_42_PER_SEP22_S2_Q18]

1
2
3.
4

. 1 [Option ID = 12629]
. 2 [Option ID = 12630]
3 [Option ID = 12631]
. 4 [Option ID = 12632]



Y dsde is burried in:
JIAP—1

Wl7=2

=3

eLsf—4

[Question ID = 3159][Question Description = 119_42_PER_SEP22_S2_Q19]
1 [Option ID = 12633]
2 [Option ID = 12634]
3 [Option ID = 12635]
4 [Option ID = 12636]

AW N =

20) &
Who among the following is a contemporay of s

217=1
St u=2
bil=3
Gl m=4

[Question ID = 3160][Question Description = 120_42_PER_SEP22_S2_Q20]
1. 1 [Option ID = 12637]
2. 2 [Option ID = 12638]
3. 3 [Option ID = 12639]
4. 4 [Option ID = 12640]

* Who among the following composed_.%:

g1
.
219=3
Ug—4

[Question ID = 3161][Question Description = 121_42_PER_SEP22_S2_Q21]
1. 1 [Option ID = 12641]
2. 2 [Option ID = 12642]
3. 3 [Option ID = 12643]
4. 4 [Option ID = 12644]



22)

[Question ID = 3162][Question Description = 122_42_PER_SEP22_S2_Q22]

Jalairs ¢l ;e ruled over:
Bl L 3T=1
BiS =2

=) Al /=3

S| =

1. 1 [Option ID = 12645]
2. 2 [Option ID = 12646]
3. 3 [Option ID = 12647]
4. 4 [Option ID = 12648]

23)

o

was a Timurid king in the14th century who wrote verses both in Arabic and

[Question ID = 3163][Question Description = 123_42_PER_SEP22_S2_Q23]

1. 1 [Option ID = 12649]
2. 2 [Option ID = 12650]
3. 3 [Option ID = 12651]
4. 4 [Option ID = 12652]

Persian. He was also a patron of:
=1

bily—2

Gl=3

=4

) Great Sufi poet (§ ~+»“was born at =+Vvillage near:

[Question ID = 3164][Question Description = 124_42_PER_SEP22_S2_Q24]

1. 1 [Option ID = 12653]
2. 2 [Option ID = 12654]
3. 3 [Option ID = 12655]
4. 4 [Option ID = 12656]

25)

j;;l.i‘f—‘|
Jﬁ—z
%=3

-4



Slel Sl is famous for his poem %-which he composed in imitation of:
Har—1

25=2

sbe2=3

S $smdt

[Question ID = 3165][Question Description = 125_42_PER_SEP22_S2_Q25]
1. 1 [Option ID = 12657]
2. 2 [Option ID = 12658]
3. 3 [Option ID = 12659]
4. 4 [Option ID = 12660]

" L?‘“thf is a ,./-written by:
Sb—1

S Plos=2

2T b=3

SeH1sis—4

[Question ID = 3166][Question Description = 126_42_PER_SEP22_S2_Q26]
1. 1 [Option ID = 12661]
2. 2 [Option ID = 12662]
3. 3 [Option ID = 12663]
4. 4 [Option ID = 12664]

27) .
A =z consists

<=1
427 =2

o E=3
ST =4

[Question ID = 3167][Question Description = 127_42_PER_SEP22_S2_Q27]
1 [Option ID = 12665]
2 [Option ID = 12666]
3 [Option ID = 12667]
. 4 [Option ID = 12668]

AW N =



28)

(I:U!rb!a.:’:-,ﬂgﬂﬁ&;
2L AT

The above couplet is composed by:

olf—1
Sl S—=2
bl =3
S0 kI=4

[Question ID = 3168][Question Description = 128_42_PER_SEP22_S2_Q28]
1. 1 [Option ID = 12669]
2. 2 [Option ID = 12670]
3. 3 [Option ID = 12671]
4. 4 [Option ID = 12672]

v Which one of the following is a J: of .= A
k-1

-2

v6-3

Cat

[Question ID = 3169][Question Description = 129_42_PER_SEP22_S2_Q29]
1. 1 [Option ID = 12673]
2. 2 [Option ID = 12674]
3. 3 [Option ID = 12675]
4. 4 [Option ID = 12676]

30) . . .
If a poet uses a verse of Arabic in a Persian ghazal, its called:

oalai =1

=2

Jib=3

G4

[Question ID = 3170][Question Description = 130_42_PER_SEP22_S2_Q30]
1. 1 [Option ID = 12677]
2. 2 [Option ID = 12678]
3. 3 [Option ID = 12679]
4. 4 [Option ID = 12680]



" o % was a book on the following subject:

eLo=1
6’/3‘-2
b3
s—4

[Question ID = 3171][Question Description = 131_42_PER_SEP22_S2_Q31]
1. 1 [Option ID = 12681]
2. 2 [Option ID = 12682]
3. 3 [Option ID = 12683]
4. 4 [Option ID = 12684]

32)

LAz s related to:
=1

oilr=2

—b=3

34

[Question ID = 3172][Question Description = 132_42_PER_SEP22_S2_Q32]
1. 1 [Option ID = 12685]
2. 2 [Option ID = 12686]
3. 3 [Option ID = 12687]
4. 4 [Option ID = 12688]

33) . .
c)”tculq’wg was associated with the court of:

[Question ID = 3173][Question Description = 133_42_PER_SEP22_S2_Q33]
1. 1 [Option ID = 12689]
2. 2 [Option ID = 12690]
3. 3 [Option ID = 12691]
4. 4 [Option ID = 12692]



! UL was written by:

d)lfu)lé(j’-b -1
$2s @ﬁj’,&f'—z
i ntins1jp=3

Slef-4

[Question ID = 3174][Question Description = 134_42_PER_SEP22_S2_Q34]
1. 1 [Option ID = 12693]
2. 2 [Option ID = 12694]
3. 3 [Option ID = 12695]
4. 4 [Option ID = 12696]

) /'/1/ is the translation of:
=gl —1
Llaly=2
PIERIEE
FE-4

[Question ID = 3175][Question Description = 135_42_PER_SEP22_S2_Q35]
1. 1 [Option ID = 12697]
2. 2 [Option ID = 12698]

3. 3 [Option ID = 12699]
4. 4 [Option ID = 12700]

36)

L85y was composed by:
Syl =1

Szt le=2

Biekds

Su55—4

[Question ID = 3176][Question Description = 136_42_PER_SEP22_S2_Q36]
1. 1 [Option ID = 12701]
2. 2 [Option ID = 12702]
3. 3 [Option ID = 12703]
4. 4 [Option ID = 12704]



" LU Ters S/ l/;ﬁ._ﬁ'y‘!'/'ﬂl
U st iae iz

The above couplet is composed in which =
A A=

A i 52

i <=3

Wb sima

[Question ID = 3177][Question Description = 137_42_PER_SEP22_S2_Q37]
1. 1 [Option ID = 12705]
2. 2 [Option ID = 12706]
3. 3 [Option ID = 12707]
4. 4 [Option ID = 12708]

38)

SWSLTALEL s the history of
,i}&:)é;t‘—‘l
Jk&ué;b‘—2
PGl =3
bl Gl —4

[Question ID = 3178][Question Description = 138_42_PER_SEP22_S2_Q38]
1 [Option ID = 12709]
2 [Option ID = 12710]
3 [Option ID = 12711]
. 4 [Option ID = 12712]

AW N =

39)
- :Zr_,uﬂ’ consists of:

=1

g =2
ol =3
hobir=4

[Question ID = 3179][Question Description = 139_42_PER_SEP22_S2_Q39]
1 [Option ID = 12713]
2 [Option ID = 12714]
3 [Option ID = 12715]
. 4 [Option ID = 12716]

AW N =



BT was written by:
bl

S5y, 7=2

TG Fak-3

S -4

[Question ID = 3180][Question Description = 140_42_PER_SEP22_S2_Q40]

1. 1 [Option ID = 12717]
2. 2 [Option ID = 12718]
3. 3 [Option ID = 12719]
4. 4 [Option ID = 12720]

41)

which are chapters of /€
P =A

Yl zn—-B

WP g—C

s Plls=D

A1 M.'J)—E

Choose the most appropriate answer from the options given below:

B, D, E Only-1
A, B, C Only-2
B, C, D Only-3
C, D, E Only-4

[Question ID = 3181][Question Description = 141_42_PER_SEP22_S2_Q41]

1. 1 [Option ID = 12721]
2. 2 [Option ID = 12722]
3. 3 [Option ID = 12723]
4. 4 [Option ID = 12724]



“ Select the Tazkira writers from the following:

TS FeL I ~A
JU_. =B
FU L7~C
Sl Lilb=D
&b-}l).ll:—E
Choose the most appropriate answer from the options given below:
A, B, C Only-1
B, C, D Only-2
A, C, E Only-3
C, D, E Only-4
O optin i~ argsy | cotion escription = 14242 PER SEP22 520421
2. 2 [Option Ip = 12726]

3. 3 [Option ID = 12727]
4. 4 [Option ID = 12728]

" Arrange Chronologically”

Ll B —A

G S—B

jf"&,,df,-,up—c

FPlé-D

e e F—E

Choose the correct answer from the options given below:
B, C, D, E, AOnly-1

A E, C,D, B Only-2

C, D, A, B, E Only-3

D, B, A, E, C Only-4



[Question ID = 3183][Question Description = 143_42_PER_SEP22_S2_Q43]

1. 1 [Option ID = 12729]
2. 2 [Option ID = 12730]
3. 3 [Option ID = 12731]
4. 4 [Option ID = 12732]

44)

Which are the prose works of (Jl-
A=A

buly=B

sblolep=C

U =D

JtE-E

Choose the most appropriate answer from the options given below:

B, D Only-1
A, B Only-2
C, D Only-3
D, E Only-4

[Question ID = 3184][Question Description = 144_42_PER_SEP22_S2_Q44]

1. 1 [Option ID = 12733]
2. 2 [Option ID = 12734]
3. 3 [Option ID = 12735]
4. 4 [Option ID = 12736]



B g"yu‘f Wrote
Slalighins—A
rLgJUIé’iy—B

dsik—C
2 3 As=D
135 ﬂ;'—E
Choose the most appropriate answer from the options given below:
A, B, C Only-1
B, C, D Only-2
C, D, E Only-3
B, C, E Only-4
ot oy o pesription = A2 PER SRR S4B
2. 2 [Option Ip - 12738]

3. 3 [Option ID = 12739]
4. 4 [Option ID = 12740]

46)

Wz Al
eSS dn i8I
M,!}i‘i:,/ff‘&”—B
:l:u::}//’;dm_,,ﬁ—c

sWosve Fue_ =D
Msirb?tdii"btzbﬁ”—E
Choose the most appropriate answer from the options given below:
A, C, E Only-1

A, B, C Only-2

C, D, E Only-3

B, A, D Only-4



[Question ID = 3186][Question Description = 146_42_PER_SEP22_S2_Q46]
1. 1 [Option ID = 12741]
2. 2 [Option ID = 12742]
3. 3 [Option ID = 12743]
4. 4 [Option ID = 12744]

47)

Jﬂ’:ﬂl

s 1 =P

35 b1 —B
:ﬁ?l;,»t/:fl—C
e g =D
aﬁ':}g}%ﬁ—E
Choose the most appropriate answer from the options given below:
A, D, E Only-1

A, B, C Only-2

C, D, E Only-3

B, C, D Only-4

[Question ID = 3187][Question Description = 147_42_PER_SEP22_S2_Q47]
1. 1 [Option ID = 12745]
2. 2 [Option ID = 12746]
3. 3 [Option ID = 12747]
4. 4 [Option ID = 12748]

¥ Sub#was associated with the court of which ruler of Jaunpur
Pbigl=1

Jblt2=2

s Solam3

sl23s7 =4

[Question ID = 3188][Question Description = 148_42_PER_SEP22_S2_Q48]
1. 1 [Option ID = 12749]
2. 2 [Option ID = 12750]
3. 3 [Option ID = 12751]
4. 4 [Option ID = 12752]



*" The first Indian born poet laureate of Mughal dynesty was

[Question ID = 3189][Question Description = 149_42_PER_SEP22_S2_Q49]

1. 1 [Option ID = 12753]
2. 2 [Option ID = 12754]
3. 3 [Option ID = 12755]
4. 4 [Option ID = 12756]

50) .
d%)' | is a work of:

-

Qe lelaF =2
LE =3
Saskr QU1 1h—4

[Question ID = 3190][Question Description = 150_42_PER_SEP22_S2_Q50]

1. 1 [Option ID = 12757]
2. 2 [Option ID = 12758]
3. 3 [Option ID = 12759]
4. 4 [Option ID = 12760]

51)

Mjg|—1

ag@ﬁi;gwrote:
LA p=1
L 31=2

IS s

k-4

[Question ID = 3191][Question Description = 151_42_PER_SEP22_S2_Q51]

1 [Option ID = 12761]
2 [Option ID = 12762]
3 [Option ID = 12763]
4 [Option ID = 12764]

A w N =



52)
57,1, of Kalhan was translated into Persian by

g /ﬁmb—1

QI ali=2
oLy Jbb-—3
&/"*—.—';’35—4

[Question ID = 3192][Question Description = 152_42_PER_SEP22_S2_Q52]
1 [Option ID = 12765]
2 [Option ID = 12766]
3 [Option ID = 12767]
. 4 [Option ID = 12768]

AW N =

™ The Mathnavi ;L:?UI@‘ was composed by:
S S mP=1

Jepe2
S 0-3
oL e

[Question ID = 3193][Question Description = 153_42_PER_SEP22_S2_Q53]
1 [Option ID = 12769]
2 [Option ID = 12770]
3 [Option ID = 12771]
4 [Option ID = 12772]

A W N =

54)
How many chapters are in_.l ¥

338 k=

Jl.gf.,sﬁ—z
Hgol=3
Jl@j}bﬁﬂ’—ﬁl

[Question ID = 3194][Question Description = 154_42_PER_SEP22_S2_Q54]
1 [Option ID = 12773]
2 [Option ID = 12774]
3 [Option ID = 12775]
4 [Option ID = 12776]

A W N =



55)

i Ao b

Il rin aor ol

The above mentioned couplet belongs to
Srndp-1

dexdi-2

S $33,=3

St

[Question ID = 3195][Question Description = 155_42_PER_SEP22_S2_Q55]
1. 1 [Option ID = 12777]
2. 2 [Option ID = 12778]
3. 3 [Option ID = 12779]
4. 4 [Option ID = 12780]

56)

Lo

Ll s ..,wr"’)é

iAol

bl B

The above verses were encompsed by:
SIS

Salbiy=2

J¥lige=3

Sk =4

[Question ID = 3196][Question Description = 156_42_PER_SEP22_S2_Q56]
1. 1 [Option ID = 12781]
2. 2 [Option ID = 12782]
3. 3 [Option ID = 12783]
4. 4 [Option ID = 12784]



5

! $27 8P was the son in law of
drf.:.f)ﬂj—1

S f)f-JUT—Z

df-3

&EL.&”I—A,

[Question ID = 3197][Question Description = 157_42_PER_SEP22_S2_Q57]
1. 1 [Option ID = 12785]
2. 2 [Option ID = 12786]
3. 3 [Option ID = 12787]
4. 4 [Option ID = 12788]

Y Jswrote:

Juu;_lg—1
=2
bl =3
b4

[Question ID = 3198][Question Description = 158_42_PER_SEP22_S2_Q58]
1. 1 [Option ID = 12789]
2. 2 [Option ID = 12790]
3. 3 [Option ID = 12791]
4. 4 [Option ID = 12792]

59)
J6JLis a tourist place situated

in which city of Iran

lpei=1

UIalj—=2

=3

=4

[Question ID = 3199][Question Description = 159_42_PER_SEP22_S2_Q59]

. 1 [Option ID = 12793]
. 2 [Option ID = 12794]

1
2
3. 3 [Option ID = 12795]
4. 4 [Option ID = 12796]



" The tomb of dfdwis situated in Ganja which is the city of
el 1—=1

G3=2

J¥L3T-3

Wlzl=4

[Question ID = 3200][Question Description = 160_42_PER_SEP22_S2_Q60]
1. 1 [Option ID = 12797]
2. 2 [Option ID = 12798]
3. 3 [Option ID = 12799]
4. 4 [Option ID = 12800]

61) . . .
who is the Persian poet of modern Iran is called as

S AFLE
Srzp=1
J,«:ur“mﬁw—Z
533
Eat =4

[Question ID = 3201][Question Description = 161_42_PER_SEP22_S2_Q61]
1. 1 [Option ID = 12801]
2. 2 [Option ID = 12802]
3. 3 [Option ID = 12803]
4. 4 [Option ID = 12804]

62) 3
Who among the following was the founder of(},.7sect:

d;yn'/:ﬂ,.fm}-""—1
=2

s ol=3

Sx fol9—4

[Question ID = 3202][Question Description = 162_42_PER_SEP22_S2_Q62]
1. 1 [Option ID = 12805]
2. 2 [Option ID = 12806]
3. 3 [Option ID = 12807]
4. 4 [Option ID = 12808]



63)

The birth place of J| ,5.="is — &which is situated in

[Question ID = 3203][Question Description = 163_42_PER_SEP22_S2_Q63]
1. 1 [Option ID = 12809]
2. 2 [Option ID = 12810]
3. 3 [Option ID = 12811]
4. 4 [Option ID = 12812]

64

) ” 3
SIS Ao N has written:
=1

f;":;hﬁlﬁ.bf&fijl—2

JeEU2a=3
S le—4

[Question ID = 3204][Question Description = 164_42_PER_SEP22_S2_Q64]
1. 1 [Option ID = 12813]
2. 2 [Option ID = 12814]
3. 3 [Option ID = 12815]
4. 4 [Option ID = 12816]

65)
The original name of Ji./Lzis

JJU'JIC{—']
oL A2
AP T,
SMie -4

[Question ID = 3205][Question Description = 165_42_PER_SEP22_S2_Q65]
1. 1 [Option ID = 12817]
2. 2 [Option ID = 12818]
3. 3 [Option ID = 12819]
4. 4 [Option ID = 12820]

ip1=1
Jl =2
=3
% =4



66)

List | List Il
ol | $res
S5 18 I sped

P -
'/{;: IJ(J}K"'?

&;’w U/:."

(W I O I v v I

Sy

o3l ks TJP 6

Choose the correct answer from the options given below:

1 A-1 | B-ll | G-Il | D-IV
2 | Alll | B-IV | C-ll | D-l
3 | All | B-IV | C-I | D-lll
4 | AV | B-lll | C-ll | Dl

[Question ID = 3206][Question Description = 166_42_PER_SEP22_S2_Q66]

1. 1 [Option ID =
2. 2 [Option ID =
3.

4. 4 [Option ID =

3 [Option ID =

12821]
12822]
12823]
12824]




67)

List | List Il
A Szl | Fdb
B i A I =Byl
G Szl Il bdis
D RO 1P \Y Laseloans

Choose the correct answer from the options given below:

1 | AV | B-lll | C-ll | DAl

A-lll | B-Il | C-IV | DAl

A-ll | B-lll | C-l |D-IV

AW N

A-1 | B-lll | C-lIl | D-IV

[Question ID = 3207][Question Description = 167_42_PER_SEP22_S2_Q67]
1 [Option ID = 12825]
2 [Option ID = 12826]
3 [Option ID = 12827]
4 [Option ID = 12828]

A w N =



68)

List | List Il

db’f [ /{{dﬂi

Si? I oI

2Lk 1l 28

O O | @ |>»

Salbs A1 v T

Choose the correct answer from the options given below:

1 A-ll | B-IV | C-llIl | D-l

A-IvV | B-Il | C-lll | DAl

A-l | B-ll | G-I | D-IV

&~ W N

A-lll | B-IV | C-I | DAl

[Question ID = 3208][Question Description = 168_42_PER_SEP22_S2_Q68]
1. 1 [Option ID = 12829]
2. 2 [Option ID = 12830]
3. 3 [Option ID = 12831]
4. 4 [Option ID = 12832]



69)

List | List Il
A bﬁ:;c)lf I Classical Persian Literature
B ‘f{’ Il Prosody of Persians
C Srile_e | 1l A Rumi's Anthology
D uf]lﬁ Y History of Iranian Literature

Choose the correct answer from the options given below:

1 A-1 | B-ll | C-lll | D-IV

A-lll | B-IV | C-ll | D-l

2
3 | Al | B-IV | C-I | D-llI
4 | AV | B-lll | C-ll | D-l

[Question ID = 3209][Question Description = 169_42_PER_SEP22_S2_Q69]
1. 1 [Option ID = 12833]
2. 2 [Option ID = 12834]
3. 3 [Option ID = 12835]
4. 4 [Option ID = 12836]



70)

List | List Il
A S S I Py
) 4 I wd &
C eclahle 1 ) AR
D 31 ALz \Y L

Choose the correct answer from the options given below:

1 | A-IV | B-lll | G-l | DAl

A-lll | B-l | C-IV | D-ll

2
3 A-l | B-ll | C-llIl | D-IV
2 A-ll | B-IV | C-l | D-llI

[Question ID = 3210][Question Description = 170_42_PER_SEP22_S2_Q70]
1 [Option ID = 12837]
2 [Option ID = 12838]
3 [Option ID = 12839]
4 [Option ID = 12840]

A W N =



71)

The edited works of L-;.‘.”i/"'; are
&Uﬂ#b"’il}—A

£5 2B

Jelz=C

= aieD

=LK I2=E

Choose the most appropriate answer from the options given below:
A,B,C Only-1

B,C,D Only-2

A,C,E Only-3

D,E Only-4

[Question ID = 3211][Question Description = 171_42_PER_SEP22_S2_Q71]
1. 1 [Option ID = 12841]
2. 2 [Option ID = 12842]
3. 3 [Option ID = 12843]
4. 4 [Option ID = 12844]

72)

The works of (§ .| ~are;
e=A

Lw,....,lfdi-j—B

Jibe#=C

s5x1J/=D

—BLT=E

Choose the most appropriate answer from the options given below:
B,D,E Only-1

A,B,C Only-2

B,C,D Only-3

C,D,E Only-4



[Question ID = 3212][Question Description = 172_42_PER_SEP22_S2_Q72]
1. 1 [Option ID = 12845]
2. 2 [Option ID = 12846]
3. 3 [Option ID = 12847]
4. 4 [Option ID = 12848]

) The books of J’;J‘ in the Literary criticism are:

S a=A

Jailpjijﬁj—B

2lysl=C

Sar$s A=D

rPLd-E

Choose the most appropriate answer from the options given below:
A,B,C Only-1

B,C,D Only-2

A,B,D Only-3

B,D,E Only-4

[Question ID = 3213][Question Description = 173_42_PER_SEP22_S2_Q73]
1. 1 [Option ID = 12849]
2. 2 [Option ID = 12850]
3. 3 [Option ID = 12851]
4. 4 [Option ID = 12852]



74) -
:(_5;:;4

Ny fn=A

=31 s 1=B

By ULy &z =C

s G L7 2247 o {6 js a3l =D

—er Az Al in=E

Choose the most appropriate answer from the options given below:
B,D,E Only-1

A,C,D Only-2

A,B,C Only-3

C,D,E Only-4

[Question ID = 3214][Question Description = 174_42_PER_SEP22_S2_Q74]
1 [Option ID = 12853]
2 [Option ID = 12854]
3 [Option ID = 12855]
4 [Option ID = 12856]

A wN =



75)

s~ 21 wrote:
oL AE=A

L 17-B
U-C
£ =D
LB (s—E
Choose the most appropriate answer from the options given below:
A,B,C Only-1
B,C,D Only-2
B,D.E Only-3
C,D,E Only-4
[Question ID = 3215][Question Description = 175_42_PER_SEP22_S2_Q75]
1. 1 [Option ID = 12857]
2. 2 [Option ID = 12858]
3. 3 [Option ID = 12859]
4. 4 [Option ID = 12860]
76)
Assertion A:
R; /"')TJ S o 9 u?
Reason R:
e LJ/L:, J

In the light of the above statements, choose the most approriate answer from
the options given below

Both A and R are correct and R is the correct explanation of A-1

Both A and R are correct but R is NOT the correct explanation of A-2

A is correct but R is not correct-3

A is not correct but R is correct-4

[Question ID = 3216][Question Description = 176_42_PER_SEP22_S2_Q76]
1. 1 [Option ID = 12861]



2. 2 [Option ID = 12862]
3. 3 [Option ID = 12863]
4. 4 [Option ID = 12864]

77)

Assertion A:
S GOEBLLS L AL 7
Reason R:

LU sl i) FEI 24 sl

In the light of the above statements, choose the correct answer from the options
given below

Both A and R are ture and R is the correct explanation of A-1

Both A and R are true but R is NOT the correct explanation of A-2
A'is ture but R is false-3
A s false but R is ture-4

[Question ID = 3217][Question Description = 177_42_PER_SEP22_S2_Q77]
1 [Option ID = 12865]
2 [Option ID = 12866]
3 [Option ID = 12867]
. 4 [Option ID = 12868]

AW N =

78)

Assertion A:
ST RSN NS O Il
Reason R:

ey RS20

In the light of the above statements, choose the most approriate answer from
the options given below

Both A and R are correct and R is the correct explanation of A-1

Both A and R are correct but R is NOT the correct explanation of A-2

A is correct but R is not correct-3

A is not correct but R is correct-4



[Question ID = 3218][Question Description = 178_42_PER_SEP22_S2_Q78]
1. 1 [Option ID = 12869]
2. 2 [Option ID = 12870]
3. 3 [Option ID = 12871]
4. 4 [Option ID = 12872]

79)
Assertion A:
:z;ru,mg)u?uu;;:ﬂutt?uff)w
Reason R:
=B S eoe i)

In the light of the above statements, choose the correct answer from the options
given below

Both A and R are ture and R is the correct explanation of A-1

Both A and R are true but R is NOT the correct explanation of A-2

A'is ture but R is false-3

Ais false but R is ture-4

[Question ID = 3219][Question Description = 179_42_PER_SEP22_S2_Q79]
1. 1 [Option ID = 12873]
2. 2 [Option ID = 12874]
3. 3 [Option ID = 12875]
4. 4 [Option ID = 12876]

80)



Assertion A:

w3285k 1851 s S5 Sl sl

Reason R:

EUF b PRI TS e L

In the light of the above statements, choose the correct answer from the options
given below

Both A and R are ture and R is the correct explanation of A-1

Both A and R are true but R is NOT the correct explanation of A-2

Alis ture but R is false-3

A is false but R is ture-4

[Question ID = 3220][Question Description = 180_42_PER_SEP22_S2_Q80]
1 [Option ID = 12877]
2 [Option ID = 12878]
3 [Option ID = 12879]
. 4 [Option ID = 12880]

AW N =

81)

Assertion A:

—erS AN P )

Reason R:

Mrdﬁ*g}famdﬁaw%:ﬁlﬂixiﬁ

In the light of the above statements, choose the correct answer from the options
given below

Both A and R are ture and R is the correct explanation of A-1

Both A and R are true but R is NOT the correct explanation of A-2

A is ture but R is false-3
Ais false but R is ture-4

[Question ID = 3221][Question Description = 181_42_PER_SEP22_S2_Q81]
1 [Option ID = 12881]
2 [Option ID = 12882]
3 [Option ID = 12883]
. 4 [Option ID = 12884]

AN w N =



82)

Assertion A:

e BN A I e

Reason R:

LIRS

In the light of the above statements, choose the correct answer from the options
given below

Both A and R are ture and R is the correct explanation of A-1

Both A and R are true but R is NOT the correct explanation of A-2

A'is ture but R is false-3

Ais false but R is ture-4

[Question ID = 3222][Question Description = 182_42_PER_SEP22_S2_Q82]
1. 1 [Option ID = 12885]
2. 2 [Option ID = 12886]
3. 3 [Option ID = 12887]
4. 4 [Option ID = 12888]

83)

Assertion A:
OGBS Pl
Reason R:

_M:I;E'Tjipsb#g;l;/,:gcﬁdﬁ

In the light of the above statements, choose the correct answer from the options
given below

Both A and R are ture and R is the correct explanation of A-1

Both A and R are true but R is NOT the correct explanation of A-2

A'is ture but R is false-3

Ais false but R is ture-4

[Question ID = 3223][Question Description = 183_42_PER_SEP22_S2_Q83]
1. 1 [Option ID = 12889]



2. 2 [Option ID = 12890]
3. 3 [Option ID = 12891]
4. 4 [Option ID = 12892]

84) .
Arrange chronologically

Py =A

A5 UL =B

~bgle=C

&l S7-D

S§EadEir—E

Choose the correct answer from the options given below:
(E).(C).(B).(D),(A)-1

(A).(B),(C),(D),(A)-2
(B).(D),(A).(E),(C)-3
(D).(E).(A).(B).(C)-4

[Question ID = 3224][Question Description = 184_42_PER_SEP22_S2_Q84]
1. 1 [Option ID = 12893]
2. 2 [Option ID = 12894]
3. 3 [Option ID = 12895]
4. 4 [Option ID = 12896]



85) .
Arrange chronologically

ISl ss=A

c;le(Jf’.,.L')u—B

YJltats—C

=l tblabj=D

S atin=E

Choose the correct answer from the options given below:
(D).(E).(C).(B).(A)-1

(C).(B).,(A).(D),(E)-2

(A).(B),(C),(D).(E)-3

(B).(E).(A).(D),(C)-4

[Question ID = 3225][Question Description = 185_42_PER_SEP22_S2_Q85]
1. 1 [Option ID = 12897]
2. 2 [Option ID = 12898]
3. 3 [Option ID = 12899]
4. 4 [Option ID = 12900]

86)

The books written by 5k _Ji
s =A

A C5-B

7 A =G

o Fulz—D

Aiy-E

Choose the most appropriate answer from the options given below:
A, D, E Only-1

B, C, D Only-2

A, B, C, Only-3

C, D, E Only-4



[Question ID = 3226][Question Description = 186_42_PER_SEP22_S2_Q86]
1. 1 [Option ID = 12901]
2. 2 [Option ID = 12902]
3. 3 [Option ID = 12903]
4. 4 [Option ID = 12904]

87)

S 17 wrote:
I3 A=A

Yoz l>=B

AL —C

)

wlbelo=E

Choose the most appropriate answer from the options given below:
A, B, E Only-1

B, C, E Only-2

C, D, E, Only-3

A, D, E Only-4

[Question ID = 3227][Question Description = 187_42_PER_SEP22_S2_Q87]
1. 1 [Option ID = 12905]
2. 2 [Option ID = 12906]
3. 3 [Option ID = 12907]
4. 4 [Option ID = 12908]



88) .
Arrange chronologically

y:f)u_a:'f-A

st =B

s 1#=C

Séi7-D

Choose the correct options given below:
(A),(B),(C),(D)-1

(B),(C).(D),(A)-2
(C).(D).(A).(B)-3
(D),(C),(A).(B)-4

[Question ID = 3228][Question Description = 188_42_PER_SEP22_S2_Q88]
1. 1 [Option ID = 12909]
2. 2 [Option ID = 12910]
3. 3 [Option ID = 12911]
4. 4 [Option ID = 12912]

D),

89) ;
Arrange chronologically

JE=A

5 UsI—B

S Lok =C

SleJui—D

~LUyb—-E

Choose the correct options given below:
(E).(C).(D),(B),

(D).(C).(E).(A),
(C).(D).(B).(E),
(E).(A).(C),(D),(B)-4

[Question ID = 3229][Question Description = 189_42_PER_SEP22_S2_Q89]
1. 1 [Option ID = 12913]

(A)-1
(B)-2
(A)-3



2. 2 [Option ID = 12914]
3. 3 [Option ID = 12915]
4. 4 [Option ID = 12916]

90) .
Arrange chronologically

A

A =B

$157v—C

S22 1=D

Choose the correct answer from the options given below:

(D).(C).(B),(A)-1

(D).(C).(A).(B)-2
(A).(B),(C).(D)-3
(B).(C).(D).(A)-4

[Question ID = 3230][Question Description = 190_42_PER_SEP22_S2_Q90]
1 [Option ID = 12917]
2 [Option ID = 12918]
3 [Option ID = 12919]
4 [Option ID = 12920]

AN w N =

Topic:- 042_PARTB_S2

1)



Read the following passage and answer the questions:

e b Qlas PSP UL E U1 s s I et s U S S w2
L Bt _iessTozs s Tl o1 S it ffs Ple st
ﬁ&.lwdm;ﬂ/f}dl/&f.»t}-?d/g:a}&;/ﬂﬁfﬁg))ng&fvmluléjuff/ﬁf
_deuf'»sl'éqf»fu"L‘:!quz‘l..ﬂ?di)lu’,,dufaugtu e s ksl sl blsbasds
M&quf'sf&féﬂ"dviU%JLJLﬂMJMF-J}jJ;lVU.L.:E&b—*d@’ifﬂ'ﬁytﬂwﬁf&w|&'kn...-«l:'/
uli’?l,ui'd"&‘_ﬁ;![:'dl;’.sazbi«lsc)i);lflﬁ:/gala;@)l:ﬁﬂiw}d dwﬁ"ﬁ@w&r._( L
_»»irqu-Jn

Lo BT L Aol

Yl

Sadedls=2

&s=3

u‘.f,b;&)uj_tl

[Question ID = 3231][Question Description = 191_42_PER_SEP22_S2_Q91]
1. 1 [Option ID = 12921]
2. 2 [Option ID = 12922]
3. 3 [Option ID = 12923]
4. 4 [Option ID = 12924]

2)



Read the following passage and answer the questions:

| Lfyu_t_g:&w;ft’gdmﬁu%" }"’];ujldmuJ/}L’:Jvd;w..JLbAsWIf Shst s
L Bt _iessTons s Tl 21 S i ffs Plie st
ﬁ&.lwdnLﬂ/f}d%{gt}?dfg:&mfﬂﬁfug))UJIULZF?CCIMI;,JV;{CFK
__-w:.']duﬂslgxfﬂfdﬂLf’—!Jlu'-‘fIJ?d!)lu;,JIJ/ﬁaLﬁgt'@ e I s sl blsbasls
M"'JJJ/L}:&.U"&?&J?UTJIU%JL@ﬂ)’ﬁ-)ﬁ’i\.—a;;ltdk:&bfdgﬂjf'ﬂfﬁygiﬂﬂf&w|&’,lkn...-»m/
uli#l,uid‘f“_ﬁgt'dlﬁwwsufjﬁlﬂ;ﬁawiﬁﬁmw dwﬁﬁuw,&r._( o
..»»iru‘fﬁjn

St Wiz Siu s

G-

Sla=2

blsbas2=3

et §-4

[Question ID = 3232][Question Description = 192_42_PER_SEP22_S2_Q92]

1.
2.
3.
4.

3)

1 [Option ID = 12925]
2 [Option ID = 12926]
3 [Option ID = 12927]
4 [Option ID = 12928]



Read the following passage and answer the questions:

| Lfyu_t_g:&w;ft’gdmﬁu%" }"’];ujldmuJ/}L’:Jvd;w..JLbAsWIf Shst s

L Bt _iessTons s Tl 21 S i ffs Plie st
ﬁ&.lwdnLﬂ/f}d%{gt}?dfg:&mfﬂﬁfug))UJIULZF?CCIMI;,JV;{CFK
__-w:.']duﬂslgxfﬂfdﬂLf’—!Jlu'-‘fIJ?d!)lu;,JIJ/ﬁaLﬁgt'@ e I s sl blsbasls
M"'JJJ/L}:&.U"&?&J?UTJIU%JL@ﬂ)’ﬁ-)ﬁ’i\.—a;;ltdk:&bfdgﬂjf'ﬂfﬁygiﬂﬂf&w|&’,lkn...-»m/
uli#l,uid‘f“_ﬁgt'dlﬁwwsufjﬁlﬂ;ﬁawiﬁﬁmw dwﬁﬁuw,&r._( o

3 UT/;-JI

Gyt 1 4
Garr=1

S s =2
A3
blsbaz—4

[Question ID = 3233][Question Description = 193_42_PER_SEP22_S2_Q93]

1.
2.
3.
4.

4)

1 [Option ID = 12929]
2 [Option ID = 12930]
3 [Option ID = 12931]
4 [Option ID = 12932]



Read the following passage and answer the questions:

| Lfyu_t_g:&w;ft’gdmﬁu%" }"’];ujldmuJ/}L’:Jvd;w..JLbAsWIf Shst s

L Bt _iessTons s Tl 21 S i ffs Plie st
ﬁ&.lwdnLﬂ/f}d%{gt}?dfg:&mfﬂﬁfug))UJIULZF?CCIMI;,JV;{CFK
__-w:.']duﬂslgxfﬂfdﬂLf’—!Jlu'-‘fIJ?d!)lu;,JIJ/ﬁaLﬁgt'@ e I s sl blsbasls
M"'JJJ/L}:&.U"&?&J?UTJIU%JL@ﬂ)’ﬁ-)ﬁ’i\.—a;;ltdk:&bfdgﬂjf'ﬂfﬁygﬂbjf&w|&’,lkn...-»m/
uli#l,uid‘f“_ﬁgt'dlﬁwwsufjﬁlﬂ;ﬁawiﬁﬁmw dwﬁﬁuw,&r._( o

355 l;'Tf;-JI

S Lens u)rrfvf:ﬂf
e =1

Geict o fpi=2

$9Fs57=3

5 11.«;!_?)[—4

[Question ID = 3234][Question Description = 194_42_PER_SEP22_S2_Q94]

1.
2.
3.
4.

5)

1 [Option ID = 12933]
2 [Option ID = 12934]
3 [Option ID = 12935]
4 [Option ID = 12936]



Read the following passage and answer the questions:

| Lfyu_t_g:&w;ft’gdmﬁu%" }"’];ujldmuJ/}L’:Jvd;w..JLbAsWIf Shst s

L Bt _iessTons s Tl 21 S i ffs Plie st
ﬁ&.lwdnLﬂ/f}d%{gt}?dfg:&mfﬂﬁfug))UJIULZF?CCIMI;,JV;{CFK
__-w:.']duﬂslgxfﬂfdﬂLf’—!Jlu'-‘fIJ?d!)lu;,JIJ/ﬁaLﬁgt'@ e I s sl blsbasls
M"'JJJ/L}:&.U"&?&J?UTJIU%JL@ﬂ)’ﬁ-)ﬁ’i\.—a;;ltdk:&bfdgﬂjf'ﬂfﬁygiﬂﬂf&w|&’,lkn...-»m/
uli#l,uid‘f“_ﬁgt'dlﬁwwsufjﬁlﬂ;ﬁawiﬁﬁmw dwﬁﬁuw,&r._( o

355 l;'Tf;-JI

R 10y oy

[Question ID = 3235][Question Description = 195_42_PER_SEP22_S2_Q95]
1. 1 [Option ID = 12937]
2. 2 [Option ID = 12938]
3. 3 [Option ID = 12939]
4. 4 [Option ID = 12940]

Topic:- 042_PARTC_S2



" Read the following passage and answer the questions:

Maessi IMJ%,&"U}B ,,.J/ Szt 02§ s f i3
_;ﬁmrtaﬁuumw LY la_zm:ﬁu&_m_g LA

e 10691507 21024 L S35 g LE 1230 3 5
S s S i B Frd o ar s
_w—‘w..*‘J’(‘”La?}yylfdufdd%.dL;Jm..__fﬂ/lm
3221050, 10 bt gine, 424 s L B pgol
a»s,,ﬁfu? 6 2kl Lo L;F'JJcJI:TcETJI
_M(Lmb"é_l};!)u:'g Efguw;n(fpr,,dw?u_gum

::;@sz,,f%ﬁuudbrl )
»1050-1
»1024 -2
»1030=3
»1042-4

[Question ID = 3236][Question Description = 196_42_PER_SEP22_S2_Q96]
1. 1 [Option ID = 12941]
2. 2 [Option ID = 12942]
3. 3 [Option ID = 12943]
4. 4 [Option ID = 12944]



? Read the following passage and answer the questions:

Maessi IMJ%,&"U}B ,,.J/ Szt 02§ s f i3
_;ﬁmrtaﬁuumw LY Lw_szu&_m.g LA
e 10691507 21024 L S35 g LE 1230 3 5
g a2 s B frd
_w—‘uu.."‘l’(‘”ta?‘,-,rylfdu/dd%.db...'w..{il,fw
3221050, 10 bt gine, 424 s L B pgol
..-:.w:,,ﬁ—‘u? £ ,i*{,JJ:.L ey L;UJQ}I:TL;E'TJI
_w(wu’yg,:)@? E&UWJI({IMLA“JLEI?{D?%LU})?}

?;-/..JF‘B'[:E:WBJIJI/

Alp-1

i kissl—2

aﬁuu—S

sl p=4

[Question ID = 3237][Question Description = 197_42_PER_SEP22_S2_Q97]
1. 1 [Option ID = 12945]
2. 2 [Option ID = 12946]
3. 3 [Option ID = 12947]
4. 4 [Option ID = 12948]



¥ Read the following passage and answer the questions:

Maessi IMJ%,&"U}B ,,.J/ Szt 02§ s f i3
_;ﬁmrtaﬁuumw LY Lw_szu&_m.g LA

e 10691507 21024 L S35 g LE 1230 3 5
S s S i B Frd o ar s
_w—‘uu.."‘l’(‘”ta?‘,-,rylfdu/dd%.db...'w..{il,fw
3221050, 10 bt gine, 424 s L B pgol
..-:.w:,,ﬁ—‘u? 6 2kl Lo L;UJQ}I:TL;E'TJI
_w(wu’yg,:)@? E&UWJI({IMLA“JLEI?{D?%LU})?}

?a;ﬁ,gi;l:ﬁ)!fb"‘dgﬁm_lw
L'JEL*&::"W L-fic;m:lf&u-@ﬁuz—1
s g2y bl I S —2
b’ﬁ:bﬂﬁ)Iaﬂsﬂf;—S

2y pe =4

[Question ID = 3238][Question Description = 198_42_PER_SEP22_S2_Q98]
1. 1 [Option ID = 12949]
2. 2 [Option ID = 12950]
3. 3 [Option ID = 12951]
4. 4 [Option ID = 12952]



Y Read the following passage and answer the questions:

Maessi IMJ%,&"U}B ,,.J/ Szt 02§ s f i3
_;ﬁmrtaﬁuumw LY Lw_szu&_m.g LA

e 10691507 21024 L S35 g LE 1230 3 5
S s S i B Frd o ar s
_w—‘uu.."‘l’(‘”ta?‘,-,rylfdu/dd%.db...'w..{il,fw
3221050, 10 bt gine, 424 s L B pgol
..-:.w:,,ﬁ—‘u? 6 2kl Lo L;UJQ}I:TL;E'TJI
_w(wu’yg,:)@? E&UWJI({IMLA“JLEI?{D?%LU})?}

?ﬁogbjﬁd{g&’hﬁim
=1

A2
Ol —4

[Question ID = 3239][Question Description = 199_42_PER_SEP22_S2_Q99]
1. 1 [Option ID = 12953]
2. 2 [Option ID = 12954]
3. 3 [Option ID = 12955]
4. 4 [Option ID = 12956]



? Read the following passage and answer the questions:

Maessi IMJ%,&"U}B ,,.J/ Szt 02§ s f i3
_;ﬁmrtaﬁuumw LY Lw_szu&_m.g LA

e 10691507 21024 L S35 g LE 1230 3 5
S s S i B Frd o ar s
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3221050, 10 bt gine, 424 s L B pgol
..-:.w:,,ﬁ—‘u? 6 2kl Lo L;UJQ}I:TL;E'TJI
_w(wu’yg,:)@? E&UWJI({IMLA“JLEI?{D?%LU})?}

?..w!o;/gg&ﬁwfwb’)md:mﬁuu

Alalz—1

H.{.}._ﬁ:lul:l‘—Z
J,‘l:oL':'—S
Uelrsli—4

[Question ID = 3240][Question Description = 200_42_PER_SEP22_S2_Q100]
1. 1 [Option ID = 12957]
2. 2 [Option ID = 12958]
3. 3 [Option ID = 12959]
4. 4 [Option ID = 12960]

Topic:- 22 GP_29SEPT22_SH1_S2_A



1)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a

company during the years 2015 to 2021.

Year-wise Sale of Batteries

Types Of Batteries Sold (in thousands)

Yo 4AH TAH 3ZAH 35AH 55AH
2015 |75 144 114 102 108
2016 90 126 102 4 126
2017 196 114 75 105 135
2018 105 90 150 a0 T5
2012 190 75 135 75 80
2020 |105 60 165 45 120
2021 115 85 160 100 145

What was the approximate percentage inerease in the sales of 35AH batteries in 2021 compared to that
in 20157

1.28 %
2,31 %
3.33 %
4,34 %

Fufaiad afeer d 9§ 2015 ¥ 2021 9@ & R TP DUAT gRT [t @t 15 AT yoR @t qcial
(B9IR ®) & faml - arfes R e &1 59 aifereT & ariws! & 2nyR W U= vl & 3w difve -

Seiul @) a8 - ar 9 :

2015 B goHT H 2021 7 55 U UG 92ied] @) fab1 § g uosa dia a4 2

| T ke o o @
AUUd | 7UTH | 328U (350G | 550 TH
2015 75 144 114 102 108
2016 80 126 102 B4 126
2017 Sa 114 75 105 135
2018 105 20 150 80 75
2018 g0 75 135 75 a0
2020 105 o0 165 45 120
2021 115 85 160 100 145

1.28 %
2.31%
3.33%
4.34%

[Question ID = 4374][Question Description = 101_81_GP6_SEP22_S2_Q01]
1. 1 [Option ID = 17493]
2. 2 [Option ID = 17494]
3. 3 [Option ID = 17495]
4. 4 [Option ID = 17496]



2)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

. Types Of Batteries Sald (in thousands)

o= 4AH TAH 32AH 35AH 55AH
2015 (75 144 114 102 108
2016 |80 126 102 a4 126
2017 196 114 75 105 135
2018 105 a0 150 90 75
2019 80 75 135 75 9D
2020 |105 18] 165 45 120
2021 115 85 160 100 145

The total sales of all the seven years is maximum for which type of battery?

T.44AH
2. TAH
3. 328H
4. 35AH

Fafufaa afee & 9 2015 § 2021 98 & ERME TP BUA! gRT fap! 31 15 [ vor $1 deRal
(F9R ®) F fawl - afepS feu v &1 59 aifereT & aiest & nuR W ui" v & 3% ifee -

=i @1 od - ar et
{1 @1 1S Seil & UPK (59X 1)

™ 4UNd | 7UUH | 320 TEd | 350U | 550 HA
2015 75 144 114 102 108
2016 80 126 102 g4 126
2017 86 114 75 105 135
2018 105 90 150 90 75
2019 g0 w3 135 75 20
2020 105 60 165 45 120
2021 115 a5 160 100 145

& ol uid a1 | [0 UBR @1 93] 91 oo (9] gaie 4 7

1.400d
2.700d
3.32844
4,350Ug

[Question ID = 4375][Question Description = 102_81_GP6_SEP22_S2_Q02]
1 [Option ID = 17497]
2 [Option ID = 17498]
3 [Option ID = 17499]
4 [Option ID = 17500]

i



3)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a

company during the years 2015 to 2021.

Year-wise Sale of Batteries

. Types Of Batteries Sald (in thousands)

o= 4AH TAH 32AH 35AH 55AH
2015 (75 144 114 102 108
2016 |80 126 102 a4 126
2017 196 114 75 105 135
2018 105 a0 150 90 75
2019 80 75 135 75 9D
2020 |105 18] 165 45 120
2021 115 85 160 100 145

What is the difference in the number of 35AH batteries sold in 2016 and 20207

1.24000
2..28000
3. 35000
4. 39000

Fafufaa afee & 9 2015 § 2021 98 & ERME TP BUA! gRT fap! 31 15 [ vor $1 deRal
(F9R ®) F fawl - afepS feu v &1 59 aifereT & aiest & nuR W ui" v & 3% ifee -

Feivul o) a4 - ar el :

- 1 ®1 75 92l & UPR (B9R 1)
AU |70 3200|3500 | 5500

2015 | 75 144 | 114 102 108
2016 | 90 126 | 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | a0 75 135 75 a0
2020 | 105 | 60 165 45 120
2021 | 115 | 85 160 100 145

T 2016 3R 2020 7 35 T U7 Aehka F R T W R 2

1.24000
2.28000
3. 35000
4.39000

[Question ID = 4376][Question Description = 103_81_GP6_SEP22_S2_QO03]
1 [Option ID = 17501]
2 [Option ID = 17502]
3 [Option ID = 17503]
4 [Option ID = 17504]

i



4)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a

company during the years 2015 to 2021.

Year-wise Sale of Batteriss

. Types Of Batteries Sald (in thousands)

o= 4AH TAH 3ZAH 35AH 55AH
2015 (75 144 114 102 108
2016 |80 126 102 a4 126
2017 196 114 75 105 135
2018 105 a0 150 90 75
2019 190 75 135 75 a0
2020 |105 18] 165 45 120
2021 115 85 160 100 145

The percentage of 4AH batteries sold in a given year to the total number of batteries sold in that same
year was maximum in the year:

1.2017
2.2018
3.2019
4.2020

FmferiRaa arferer § 99 2015 ¥ 2021 99 & SR TP HUAT gRI1 f4p1 @1 75 iy yoR &t deikal
(F9R ®) F fawl - aieS fRu v &1 53 arfereT & aiest & nyR W ui= vl & 3% ifee -

SRl o - R R
| T et o g
AUW | 7UTH | 320 WA (350G | 55 WHA

2015 75 144 114 102 108
2016 80 126 102 g4 126
2017 56 114 75 105 135
2018 105 a0 150 90 75
2019 90 75 135 75 90
2020 105 o0 165 43 120
2021 115 85 160 100 145

T Gy e ad # deial @) [l B o gen & 9y 99 gd | {81 &1 77 4 U " 92l @1 i e

au i@ U7 7

1.2807

2.2018

3.2018

4. 2020

[Question ID = 4377][Question Description = 104_81_GP6_SEP22_S2_Q04]

1. 1 [Option ID
2. 2 [Option ID
3. 3 [Option ID
4. 4 [Option ID

= 17505]
= 17506]
= 17507]
= 17508]



5)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a

company during the years 2015 to 2021.

Year-wise Sale of Batteries

. Types Of Batteries Sald (in thousands)

o= 4AH TAH 32AH 35AH 55AH
2015 (75 144 114 102 108
2016 |80 126 102 a4 126
2017 196 114 75 105 135
2018 105 a0 150 90 75
2019 80 75 135 75 9D
2020 |105 18] 165 45 120
2021 115 85 160 100 145

In case of which type of battery there was a continuous decrease in sales from 2015 to 20207

1. 4AH
2. TAH
3.3248H
4. 35AH

Fafufaa afee & 9 2015 § 2021 98 & ERME TP BUA! gRT fap! 31 15 [ vor $1 deRal
(F9R ®) ¥ faw) - fes feu v &1 53 aifereT & aiest & nuR W ui= v & 3% ifee -

FzRul @ 9 - ar & :
¢ | T w1 ke o (e
4TUTH|7UTH | 32UTH | 35U LT | 5500
2015 75 144 114 102 108
2016 ag 126 102 B84 126
2017 96 114 75 105 135
2018 105 20 150 a0 75
2019 90 75 135 15 ap
2020 105 o0 165 45 120
2021 115 85 160 100 145

a8 2015 ¥ 2020 7% Y UBR &I dedl @) f9eh] H Fa FRge g4t 7

1.4004
2700
3.32U0Ug
435004

[Question ID = 4378][Question Description = 105_81_GP6_SEP22_S2_QO05]
1. 1 [Option ID = 17509]
2. 2 [Option ID = 17510]
3. 3 [Option ID = 17511]
4. 4 [Option ID = 17512]

Topic:- 22 GP_29SEPT22_SH1_S2_B



1)

Which scheme of Ministry of Education, Government of India, uses Artificial Intelligence to make learning

more personalised and customised, as per requirements of the learners?

1. NEAT
2, NEET
3, SWAYAM
4, SWAYAM PRABHA

Ry HaTew, YR WHR @ S Y1 TieH Rl &1 Hameas & FUR A &) HfUs ufie
I ol g o & forg hm afgwer o1 v e 8 7

1.EELd

2.E5s 4

3, TGTH [SWAYAM )

4, WOH UHT (SWAYAMPRABHA)

[Question ID = 4379][Question Description = 106_81_GP6_SEP22_S2_QO06]
1. 1 [Option ID = 17513]
2. 2 [Option ID = 17514]
3. 3 [Option ID = 17515]
4. 4 [Option ID = 17516]

2)
Upon completion of academic programmes (Graduation), what outcomes should the students have

attained?

1. Programme Education Objectives/ Programme outcomes
2, Lesson outcomes

3, Course outcomes

4, Unit/Chiapter outcomes

SBIGHD BB (Hiad) d G e W, fqiial & a7 uRomE U §H =1 7

1. PTHH & 353/ BUHH TR
2. 916 giRomH

3, UIBIEH URumH

4, giFe/ S UROH

[Question ID = 4380][Question Description = 107_81_GP6_SEP22_S2_Q07]
1. 1 [Option ID = 17517]
2. 2 [Option ID = 17518]
3. 3 [Option ID = 17519]
4. 4 [Option ID = 17520]

3)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Teachers must encourage students ta ask questions.
Reason R: Asking guestions can create curiosity and develop passion far learming.
In light of the above statements, choose the most appropriate answer from the options-given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct



A S B RUTL S ; U @1 3@y (A) 3R g0 B SRY (R) Bel T 8
B (a) : B! @1 Taiial ®f v gs- & o uiefed o aifsg)
@R (R) ; B4 U5 © foigman 9 g1 & SR ST & o 3w fas e il 8|
ST Byl & e # P Rwed § & 9l R

1. (A) 3R (R) T 961 & IR (R), (A) P Ge1 R 31

2. (A) AR (R) ST HE1 § IR (R), (A) P Wel oI T 8

3. (A) W81 € U (R) WRI BT B
4, (A) W1 81 & U (R) TE1 B

[Question ID = 4381][Question Description = 108_81_GP6_SEP22_S2_Q08]
1. 1 [Option ID = 17521]
2. 2 [Option ID = 17522]
3. 3 [Option ID = 17523]
4. 4 [Option ID = 17524]

4)
Which of the following model is used for development of e-content for MOOCs on SWAYAM?

1. Four Quadrant
2. Two Quadrant
3, Flipped Classroom
4, Bloom's Taxonomy

TWEH (SWAYAM) TF HE (MOOCs) & (02 S-1augas] & [9@1d & (08 A9 H 4 [ Hisa o War gdl g 7

1. IR =g

2. 519G

3. s wan

4, TH ®I GBI [ G99

[Question ID = 4382][Question Description = 109_81_GP6_SEP22_S2_Q09]
1. 1 [Option ID = 17525]
2. 2 [Option ID = 17526]
3. 3 [Option ID = 17527]
4. 4 [Option ID = 17528]

5)
In erder to develop a video for MOOC, how much portion of some copyrighted videco is allowed to be

used as'per the fair use guidelines?

.Upto 10% or 10 minutes, whichever is less,
.Upto 10% or 3 minutes, whichever is less,
. Upto 20% or 10 minutes, whichever is less,
.Upto 30% or 3 minutes, whicheveris less,

ds DM -

IH (MOOC) T g ®i% difsal 91 & forg, 3fed W R & saurR, o ufaftafyeta dfsar
 frad ol @1 WOl o @ oA 8 2

1.10% T, T1 10 e, o YT B gl

2.10% %, U1 3 e, S s i)

3.20% @, 41 10 BE, & A HH B
4,30% %, 41 3 e, o oA gl

[Question ID = 4383][Question Description = 110_81_GP6_SEP22_S2_Q10]
1. 1 [Option ID = 17529]
2. 2 [Option ID = 17530]
3. 3 [Option ID = 17531]



4. 4 [Option ID = 17532]

6)
When the subjects of a research change or improve their behaviour, not due to changes in experimental

stimulus, it is called

1., The Hawthorne effect
2. The Glern effect

3, The Fischer effect

4, The Kerlinger effect

e fodl] 2y o faual & FaeR o gRad g1 YR WANTES 380l | gikad & SR Jel &idl &, al 34
EZHIS Gl

1. B13YH gHIE
2.7 uHE

3, e uHTE
4, TRGTR gHIa

[Question ID = 4384][Question Description = 111_81_GP6_SEP22_S2_Q11]
1 [Option ID = 17533]
2 [Option ID = 17534]
3 [Option ID = 17535]
. 4 [Option ID = 17536]

DwN o=

7)
The advantages of research based on field experiments are:

A, A strong external validity

B. Subjecis behave normally and naturally.

C. The experiment takes place in a natural setting.

D. Generation of primary data

E. Non-reguirement of elaborate logistics

Choose the correct answer from the options given below:

1.4, B and Conly
2,8, Cand D only
3.C Dand Eonly
4 A Cand Eonly



&3 H TR IR IR Y HAHE -

A. T Ueie] STl 99|

8. fawg g SR Wifde 0 3 FEaER Fed o
C. WP Wiglad e § gl ol

D. WHIH® Hiws! 1 o |

£, e SR 1 Snaxamar el el |

i feg e el 4 W S

1.WaAA, B HRC
2. ®ad B, C AR D
3, WAAC,DANE
4. @EAA, CHRE

[Question ID = 4385][Question Description = 112_81_GP6_SEP22_S2_Q12]

1. 1 [Option ID = 17537]
2. 2 [Option ID = 17538]
3. 3 [Option ID = 17539]
4. 4 [Option ID = 17540]
8)
Hypothesis, that is alternative to null hypothesis, is represented as
1. Hp
2. Hy
3. Han
4 Ha

uR@edH], Sl I kel @ (9P 6, B G4l Sl &

1. Hg
2. Hy
3. Hay
4 Hap

[Question ID = 4386][Question Description = 113_81_GP6_SEP22_S2_Q13]
1 [Option ID = 17541]
2 [Option ID = 17542]
3 [Option ID = 17543]
. 4 [Option ID = 17544]

AwoN o

9)
What is SCOPUS?

. Software to prepare Ph.D thesis
. Database containing abstracts and citations of academic journals

LD pa

. Agency to fund research and development
4, Plagiarism checking software

@99 (SCOPUS) §HTE 7

1. Uie= 31, 2y 9y JOR & & Sigeday

2. SRTEY forgH e ufieiel & IR T 9 e ©
3,30y 3R ToE & feaume & e ey

4, UTii® IR &1 ST &3 e SigeamR



[Question ID = 4387][Question Description = 114_81_GP6_SEP22_S2_Q14]
1. 1 [Option ID = 17545]
2. 2 [Option ID = 17546]
3. 3 [Option ID = 17547]
4. 4 [Option ID = 17548]

10)
The Social Science research which is data-based, has been associated with

1. Authoritarian mode
2, Positivist philesophy
3. Network theory

4. Phenomenclogy

g8 9MIfee foyF Iy, & SiFs-uiRa g s, Feea g des & -

1, GOiETE] Ui
2. TH&aE! a9
3, 9ead fbEia

4, TROYe] fagH

[Question ID = 4388][Question Description = 115_81_GP6_SEP22_S2_Q15]
1. 1 [Option ID = 17549]
2. 2 [Option ID = 17550]
3. 3 [Option ID = 17551]
4. 4 [Option ID = 17552]

11)
The modern-communication revolution is propelled by

1. Cold war propaganda

2, International commerce

3., Technological convergence
4, Change in palitical systems

YD T il au® s ARG & 7
1. 29 g% @1 wigist
2. 3Ti¥ig ey

4, Tt o J 9igaq

[Question ID = 4389][Question Description = 116_81_GP6_SEP22_S2_Q16]
1. 1 [Option ID = 17553]
2. 2 [Option ID = 17554]
3. 3 [Option ID = 17555]
4. 4 [Option ID = 17556]



12)

Effective classroom communication will enable

A, Efficient teaching

B. Interest in leaming

C. Minimal assessment

D. Interaction between teachers and students

E, Teacher-centric behaviour

Choose the correct answer from the options given below;

1.A, B and Conly
2.B,C,DandE only
3.C, D and E only
4. A Band D only

A H YHTH SO [HEE SEH B
A. B 49

8. Hig H iy

C. SiedaH Jedid

D. gl ofR faepitiel & did 3R feean
E, 3{T19S- Bigd HaEN

i fau TIe famedl 5 4 el ST g

1.WaAA, B AR C
2,%dd B, C,DIRE
3, WaAC, DANE
4, WIAABIARD

[Question ID = 4390][Question Description = 117_81_GP6_SEP22_S2_Q17]

1.1
2.2
3.3
4. 4

13)

[Option ID = 17557]
[Option ID = 17558]
[Option ID = 17559]
[Option ID = 17560]

9

Which of the following are barriers to understand the communicated messages?
A. Emotional quotient

B, Jargon

C. Personal space

D. Pre-judgement

E, Cultural background

Choose the correct answer from the options given below:

1.4, B and Conly
2.8, D and Eonly
3.C, Dand E only
4,B, Cand D only



FRiaed J 4 1 § 9 SeYl &) §H9eH | SelY® 8 7
A, agTED-Tle

B. I

C. Jafdae HH

D. ga-[uig

E, i@ s g8y

el o e fawed 3 S W) I g

1.WaAA, B HRC
2.@ad e DIARE
3, WAAC,DANE
4, @aAB, CHRD

[Question ID = 4391][Question Description = 118_81_GP6_SEP22_S2_Q18]
1 [Option ID = 17561]
2 [Option ID = 17562]
3 [Option ID = 17563]
. 4 [Option ID = 17564]

Awo o

14)
Given below are two statements

Statement I: Knowledge is a form of cultural capital for all practical purposes,
Statement II: Communication media make cultural capital a form of illimitable property.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Staterent Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct

e REmR:

YA - | TF Tl STEsING YgieH] & [ 9Piae gu| @] U ¥4 o

YA - || ; FEIg HITST, UG a® U9l 6] U6 WER &1 it 9 S 8
I9led HYA & HEI® 3 FEiaiad fadedl H € Hel 3wt 91

1. ®YT | 3R 1 GHT el 8l
2. ®YF | SR I GHI e B |
3. WY | T8l &, foeg YA 1| 7o B
4, BYF | 7o & , g PYA 11 98T B

[Question ID = 4392][Question Description = 119_81_GP6_SEP22_S2_Q19]
1. 1 [Option ID = 17565]
2. 2 [Option ID = 17566]
3. 3 [Option ID = 17567]
4. 4 [Option ID = 17568]



15)
Match List | with List Il

List 1 List Il

Concept of presentation Characteristic

AL Text |. Order of signification
B. Biscourse Il Subjective invention
C. Connotation 1ll. Micro data

D. Myth IV. Macro exchange

Choase the correct answer from the options given below:

TA-LB-1,C=-ILB-1V
ZA-ILB-ILC=-IV, B =]
LA-NB-MC-LLD-1
4A-WB=-LE-ILB=M

T - B g -1 T A P

T - Il

R0 B HGYR faiwang

A TS I. ATV BT P H
B. faw=i 11, TH-FE G

C. oY 11l HTEeh]-SeT

D. Fus V. B 3H-0aH
I fau e faeen! H ¥ e guegihe:

TA-LB-1,E-1l, D-IV
ZA-IB-L -V, B=]
LA B=MC-, B=
4A-WB-1,C-1, B-HI

[Question ID = 4393][Question Description = 120_81_GP6_SEP22_S2_Q20]
1. 1 [Option ID = 17569]
2. 2 [Option ID = 17570]
3. 3 [Option ID = 17571]
4. 4 [Option ID = 17572]

16)
Cheose the set of numbers, similar to the set (31, 19, 41) out of the following:

A (27, 28, 47)
B. (23, 34, 45)
C. (29, 16, 41)
D.(29, 17,37)
E, (23; 37, 49)
Cheose the correct answer from the options given below:

1.A Cand Eonly
2.A and B only
3.B and D only
4, Donly



Fefoed T9=al § © 9= (31,19,41) & 99 Saief & 9= &) g0 -
A. (27, 29, 47)

B. (23, 34, 49)
C. (29, 16, 47)
D. (29, 17,37)
E. (23, 37, 49)
i feu e fewedl 5 4 W) SR 9

1.Wad A, CIRE
2, BAAA 3B
3, @ad e AR D
4,WFAD

[Question ID = 4394][Question Description = 121_81_GP6_SEP22_S2_Q21]
1 [Option ID = 17573]
2 [Option ID = 17574]
3 [Option ID = 17575]
. 4 [Option ID = 17576]

AwoN o

17)
Unscramble the strings below to create a meaningful word and then find the odd one out:

A, EIWNTR

B. UMRSME

C, PIGRSN

D. LCUQD

Choose the correct answer from the options given below:

A anly
.B only
. C only

S O T

.Doenly

Jid T5u 7T¢ 97 @1 59 UoR Gosl 1@ oy 2t &4 aul agoid [958 &1 g6 -
A, EIWNTR

B. UMRSME

C. PIGRSN

D. LCUOD

id o e fawed | & S WE1 I g

1. &Had A
2 Hade
3, WaAC
4,WaAD

[Question ID = 4395][Question Description = 122_81_GP6_SEP22_S2_Q22]
1. 1 [Option ID = 17577]
2. 2 [Option ID = 17578]
3. 3 [Option ID = 17579]
4. 4 [Option ID = 17580]



18)
What shall be the value when 0.07 is divided by 3507

1..0.0002
2,0.002
3,0.02
4,0.00002

& 0,07 B 350 § YN (o5 STQ ol 41 A1 Ui g 7

1..0.0002
2,0.002
3.0.02

4, 0.00002

[Question ID = 4396][Question Description = 123_81_GP6_SEP22_S2_Q23]
1. 1 [Option ID = 17581]
2. 2 [Option ID = 17582]
3. 3 [Option ID = 17583]
4. 4 [Option ID = 17584]

19)
Si¥ persons went to a hotel for a dinner, Five of them spent Rs 150 each on their meals, while the sixth

person spent Rs 80 more than the average expenditure of all the six persons. What is the total money
spent by all the six persons?

1. 996
2,999
3.1000
4, 1001

BE O U HieH & e gl | o 81 999 uig wfganl § 9 Ude 3] Hiod R 1150 T &l 8
Sl o] diod Gl B¢ diaedl & AGd @9 U 180 HYD W@ Bl o) 9 S8 Hidadl gl & fda]
o TRE @i ?

1.3 996
2.3999
3,3 1000
4.31001

[Question ID = 4397][Question Description = 124_81_GP6_SEP22_S2_Q24]
1. 1 [Option ID = 17585]
2. 2 [Option ID = 17586]
3. 3 [Option ID = 17587]
4. 4 [Option ID = 17588]

20)
The selling price of 30 fans is equal to the purchase price of 25 fans. What is the profit or loss in

percentage?

1. A gain of 15'%%
2. A loss of 15%
3. A loss of 15%%

4. No gain, no loss



30 Ul BT ool Hed 25 UG & WG 40 & aXiee o | oY ual gli- wiogid J a8 2

1. 15'.2% iy

2. 15% 89
2

3. 163% gl

AAEN, Ay

[Question ID = 4398][Question Description = 125_81_GP6_SEP22_S2_Q25]
1 [Option ID = 17589]
2 [Option ID = 17590]
3 [Option ID = 17591]
4 [Option ID = 17592]

Aw oo

0 In Classical Square of Opposition, if 'Some S is P' is given as true then which of the following could be
immediately inferred from it?
A.'Some S is not P' s false
B. 'Some S is not P is:trie
C.'No Sis P is false
D. All Sis P* is'undetermined
E 'Some S is not P'is undetermined

Choose the correct answer from the options given below:

1.A, Cand Donly
2.C, Dand E only
3.8, Cand D only
4. B and Conly

el & e 9 § 3@ S, PEld &), @I 4 Uol 9F T8l dl Y 5 ¥ [ouml UEs 9 4 S
oS gea g 2

A TS PRI, Tad 8

B. TGS PTRie, 90 e

C.®lgs PIRle, Tod 6

D. g s, P&, aFuifa g

E T3S PAsl o, AHuid g

rd T e fawed| 4 § W6l I g

1.&qd A, CHARD
2.WIAC,DARE
3, @ad e, C 3R D
4, HIAE AN C

[Question ID = 4399][Question Description = 126_81_GP6_SEP22_S2_Q26]
1 [Option ID = 17593]
2 [Option ID = 17594]
3 [Option ID = 17595]
4 [Option ID = 17596]

Do



22)
A fallacy in which the conelusion is stated or assumed within one of the premises is known severally as;

A, Petitio Principil

B. Irrelevant Conclusion

C. Begging the Question

D. Fallacy of Compasition

E, Circular argument

Choose the correct answer from the options given below,

1.A, D and E only
2.C and D only

3.8, Cand E only
4. A Cand Eonly

T3 g0 oM o8y 9558 @ U5 MUK 9190 & ©U & aa a@ied [oa) 741 81 34al 969 71 &1 39
ot ueRl @ 79 Sl 9 &

A, Tafefma it

B, U sy
C. I T

D. ¥g1e @] ab-a
E 9%@ Gl

1.®ad A, D AR E
2, FEACIRD

3. @ad B, CHRE
4 ad A, CIARE

[Question ID = 4400][Question Description = 127_81_GP6_SEP22_S2_Q27]
1. 1 [Option ID = 17597]
2. 2 [Option ID = 17598]
3. 3 [Option ID = 17599]
4. 4 [Option ID = 17600]

23)
Analogical Arguments are:

1. Deductive in nature

2. Inductive in nature

3. Valid arguments but fallacious
4, Invalid arguments

TERE® O §

1. S usia vl
2, AT Udbia o1
3. 99 Uig TIvgad o
4, 33y aB

[Question ID = 4401][Question Description = 128_81_GP6_SEP22_S2_Q28]
1. 1 [Option ID = 17601]
2. 2 [Option ID = 17602]
3. 3 [Option ID = 17603]



4. 4 [Option ID = 17604]

24)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: According to Classical Indian School of Logic (Nyaya), it is desirable but not necessary to
offer an example in a syllogistic:argument or inference.

Reason R: Example shows that there is at least one existent object or case in the world in which the
middle and major terms co-exist.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2, Both A and R are correct but R is NOT the correct explanation of A
3, A is correct but R is not correct

4, A is not correct but R is correct

Jd el myE QU E: U9 ®f Sy (A) 3R GO ®f o (R) Bl ™I 6l

AT (A) : WG HRAY OE 70 @ SR [oul 4G a8 HUd] H99H @1 366 ol a4 3,
fobg AFaErd 9811

BRI (R) ; TaELU U8 SUial ¢ [ ©F § 4 U9 Haadr a%g g1 Hidiie [l J9E & fored 79 g
Y 7@ UG We-agHF B |

IuaEd BYA| & H1dI® d FHiied el 3 3 98l 3w 9 -

1. (A) 3R (R) ST T E 3R (R), (A) F1 Wel oare g1

2. (A) 3R (R) TFT H81 § TR (R), (A) T Hel S8 81 &
3. (A) W81 € U (R) WRI 61 B

4, (A) BT 781 & U (R) TE1 B

[Question ID = 4402][Question Description = 129_81_GP6_SEP22_S2_Q29]
1. 1 [Option ID = 17605]
2. 2 [Option ID = 17606]
3. 3 [Option ID = 17607]
4. 4 [Option ID = 17608]

25)
An American is told by his friend that Asian buffalo is like bison in such and such respects. When the

American visits Asia and comes across a buffalo; he comes to knew that the animal seen by him is buffalo.
Which of the following means of knowledge (pramana) is used in this instanca?

1. Postulation (Arthapatti)
2. Comparison (Upamana)
3, Perception [Pratyaksa)

4, Verbal Testimony (Sabda)

TE P B 39D 54 GR1 gar] 741 & Ue TR U9 37 3R 34 9.H & 984 (BISON) @1 a¥e sidl
2| o 39 oEdET 3 U @ 9 91 9N a8 U9 & 9RE T O 99 Ug udy el {99 forg wioht @t
o1, g 99 & | efofag 5 9 59 30 9148 @) &1 399 S99 gl 39 994 fear 741 7

1, Hufae
2. 39494
3, Uedg
4, Tek

[Question ID = 4403][Question Description = 130_81_GP6_SEP22_S2_Q30]
1. 1 [Option ID = 17609]



2. 2 [Option ID = 17610]
3. 3 [Option ID = 17611]
4. 4 [Option ID = 17612]

26)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Static RAM is typically used for PC's main memory while Dynamic RAM is used for CPU

cache.
Reason R: Static RAM is faster and more expensive than Dynamic RAM.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4 A s false but R is true

AT TARUTE: 3 AHE (A) R GE B SR (R) T T &

AU (a); wlew 33 o [dftp w9 4 gudi @ & @1 35 391 F Torg fovan o & ol snfEe
T Ul g, $2 o 68 wEr @l ol gl

FRO (R) : SRS O "SHAS 1 @ gol § St 9 AR T gl el

Iuded HYH & el d Faifed famed d § w8 I 9

1. (A) 3R (R) THT TE & AR (R), (A) T T8l ARS8

2. (A) 3R (R) GHI G & 93g (R), (A) B! Hel oare 18l o
3. (A) T § T (R) ST €

4, (A) FET T (R) T &

[Question ID = 4404][Question Description = 131_81_GP6_SEP22_S2_Q31]
1. 1 [Option ID = 17613]
2. 2 [Option ID = 17614]
3. 3 [Option ID = 17615]
4. 4 [Option ID = 17616]

27)
With respect to the Computers, what is the purpose of compressing a data file?

1. To encrypt the data

2, To occupy less storage space

3. To increase transmission time over a network

4, To allow the file to be read by a variety of applications

TR F UoH 7 0T SI2 BT ] PHE o3 o F Fed e e 7

1. ST @] ThY B @ [

2. T €T WY TR & oY

3. T9 -icad OR CIGHINH SIgA | gl @3 & 104

4. % DIge @ 141 WA GRI Ue 91- @ (08 SR ol

[Question ID = 4405][Question Description = 132_81_GP6_SEP22_S2_Q32]
1. 1 [Option ID = 17617]
2. 2 [Option ID = 17618]
3. 3 [Option ID = 17619]
4. 4 [Option ID = 17620]



28)
Which of the following peripheral devices are considered as only input devices

A. Micrephone

B. Projector

C. Joy Stick

D. Scanner

E, Track-ball

Choose the correct answer from the options given below,

1.A, C DandE only
2.A B Dand E only
3.B,C, DandE only
4.A B CandDonly

Fafaied TReRT fSaE9s H § 6 $a0 374 [Sasay AF S s 7
A, TRBIHH

B, Uloigex

C. &g fe®

D. ¥

E Zomar

i fau TIe famedl 5 4 el ST g

1,980 A, C DARE
2, WaAA, B, DIANE
3, %99 B, C D IRE
4, WaAA, B, C AR D

[Question ID = 4406][Question Description = 133_81_GP6_SEP22_S2_Q33]
1. 1 [Option ID = 17621]
2. 2 [Option ID = 17622]
3. 3 [Option ID = 17623]
4. 4 [Option ID = 17624]

29)
A Company's word-processed daily repaert contains a graph from a spreadsheet. The report needs to

display the maost recent information from the spreadsheet. What feature should be used to insert the
most up-to-date graph?

1. Copy and paste

2, Mail merge wizard

3, Automatad importing
4, Linking and embedding



ol Hrl B a3 UI0EE SHe (WUid H Sisdie & U 915 Aad eidl 81 diE & distiie & sead g
] 791 9F1 Ha%ES il o ST U1 @ AAfRE B & o8 [ 10 (BTeR) B S9N (691 ST 91el

1. BT 3¢ U
2. 7O 9 faws
4. Feiftm iR wafEm

[Question ID = 4407][Question Description = 134_81_GP6_SEP22_S2_Q34]
1 [Option ID = 17625]
2 [Option ID = 17626]
3 [Option ID = 17627]
4 [Option ID = 17628]

Aw oo

30)
Which type of virus er destructive software could appear to be useful, but will actually cause damage

once installed or run by a user?

1. Hoax

2, Worm

3. Trojan Horse
4, System Sector

fd! T @l Y UER &1 aRRY SUa] Steided GiFediR SUanT Wik gidl &, died U@ R 9iteadl
$Ela @ & 16 JYal 94 90H W ad § 304 SRd elal &

1. 319 (HOAX)

2. 99 (WORM)

3. 219 B4 (TROJAN HORSE)

4, %0 923 (SYSTEM SECTOR)

[Question ID = 4408][Question Description = 135_81_GP6_SEP22_S2_Q35]
1 [Option ID = 17629]
2 [Option ID = 17630]
3 [Option ID = 17631]
. 4 [Option ID = 17632]

Awn o

31)
According to Neise Pollution (Regulation and Control) Rules in India, noise (L.g) in educational institutions

during night time (10pm-6am) must not exceed

1.35 dB
2,40 dB
3.45dB
4,50 dB

R H @ gguw (At ud Fgav) Foaed & SER, Qikie G H UG 10 96l AWRIE Y 6 99 gais
% @ 919 H Wi (L) T ©R Feidiad 9 Yo 961 g1 9iee

1.35dB
2,40 dB
3,45 dE
4,50 dB

[Question ID = 4409][Question Description = 136_81_GP6_SEP22_S2_Q36]
1 [Option ID = 17633]
2 [Option ID = 17634]
3 [Option ID = 17635]
. 4 [Option ID = 17636]

DN



32)
The percentage increase in carbon dioxide coencentration in atmosphere frem pre-industrial

times is approximately

1.55 %
2,50%
3,74 %
4,62 %

SHIIe ®1e & Yed 9 aiaasyl H Bla- SieHaugs Fisdl 5 Wi gis TR 6 :

1.55%
2,50%
3, 74%
4,.62%

[Question ID = 4410][Question Description = 137_81_GP6_SEP22_S2_Q37]
1. 1 [Option ID = 17637]
2. 2 [Option ID = 17638]
3. 3 [Option ID = 17639]
4. 4 [Option ID = 17640]

33)
The highest nonzero dose at which no toxic effect is observed in a study on animals is called

1. 105

2. NOAEL
3, LOAEL
4 NOEFF

HYman TR I 9 59 ® o O Gued gyE S W AEET § 98 4@ 9 8, PRiaiad
Fel a6

1.LDs

2, NOAEL
3. LOAEL
4 NOEFF

[Question ID = 4411][Question Description = 138_81_GP6_SEP22_S2_Q38]
1. 1 [Option ID = 17641]
2. 2 [Option ID = 17642]
3. 3 [Option ID = 17643]
4. 4 [Option ID = 17644]

34)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Hybrid Electric Vehicles' (HEVs) fuel running cost is lesser than Electric Vehicles (EVs),

Reason R: Hybrid Electric Vehicles have both an internal combustion engine and an enboard electric

pewer generation system.
In light of the above statements, choose the most appropriate answer from the options-given below

1. Both A and R are correct and R is the correct explanation of A

2, Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct



gl ey RUTE R ; U ol i@y (A) 3R g0 @] SRY (R) B8l T 8
HUBY (4) : TRIFS Saifded T8 (HEVs) BT S8 T1a AT Seliae® died (EVs) § FH &
gﬁﬁﬂé (R) : TRHS SAfEeD A 7 SMaid aod 9 IR TP AMa1S gaifdes fedd Iae WOl GH
|
IuYE Y| & IS | FHlied [qmed H 4 Gl 3wk 94 ;
1. (A) R (R) TFT TE § 2R (R), (A) P O T B
2. (A) 3R (R) GIFT 981 B U (R), (A) @1 Hel oIReT 78] &1

3. (A) ¥E1 8 UT (R) eI 81 B
4, (A) BT T61 & TR (R) §R1 81

[Question ID = 4412][Question Description = 139_81_GP6_SEP22_S2_Q39]
1. 1 [Option ID = 17645]
2. 2 [Option ID = 17646]
3. 3 [Option ID = 17647]
4. 4 [Option ID = 17648]

) What is the correct chronological order of sequence fram clder ta newer of the following agreement.
summit and protocols?
A, Paris Agreement
B. Mentreal Protocol
C. Kyoto Protocol
D. Rio Summit

Choose the correct answer from the options given below

1.ABCD
2,B,D CA
3.A,CDE
48,CD A

FiRea oasiar, RReY g U dieimicl & 93H 4 AU aaHed H Uol of &1 & 7
AR g

g, Allcad Uielmia

C. Tl el

D. fa e oo

i few e faedl 5 4 W8 SR 9

1.A,BCD
28D CA
3.A,CDE
48 CD0DA

[Question ID = 4413][Question Description = 140_81_GP6_SEP22_S2_Q40]
1. 1 [Option ID = 17649]
2. 2 [Option ID = 17650]
3. 3 [Option ID = 17651]
4. 4 [Option ID = 17652]



36)
Which of the fellowing universities is an Institute of Eminence?

1. Central University of Gujrat, Gandhinagar
2. University of Hyderabad

3, Tezpur University

4, Jamia Millia Islamia

Fofafed Bafoamgl 9 oF 9 aeuldy 4§ 2

1. ToRTE S [SyfEeey, TR
2. BEXEIG fayfaeey

3, dorgR faefaened

4, WG] THiCET Smaan

[Question ID = 4414][Question Description = 141_81_GP6_SEP22_S2_Q41]

1. 1 [Option ID = 17653]
2. 2 [Option ID = 17654]
3. 3 [Option ID = 17655]
4. 4 [Option ID = 17656]
37)
Given below are two statements
Statement I: With Academic Bank of Credit facility in place, a student will be able to customize and
design own degree, provided 50% of credit are from the higher education institutions awarding the
degree.
Statement II: Credits once ussd or redeemed by a student cannot be used for any other formal purpose
OF Course wavers.
In light of the above statements, choose the most appropriate answer from the options-given below
1. Both Statement | and Statement Il are correct
2, Beth Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement || is correct
dd al e RE TR

BYF - | ; HbSHD g AP shise Gayl AP s & TN, B AT (53] B AewidHa a7H aul e
B H W& B G951 50% D15T, 1991 &7 a0 3o 1060 HEI &l

FYF - || : T GRI H15¢ G 3TAN 52 o YT 94 FRaR 3 04 & 915 I99T SUd fd 3/ o=
T530 Y] B1Y ° B¢ & [O7¢ Aa) [bF] o Gadl 6
SudE T & eS8 FHEfaRad e H 4 U8 Suded S 9

1. 34T | 3R 1 GF el B
2. WY AR I GH TEd B |
3. ®YF | Hel &, [ P4 || Tad 8
4,FY 1 Tod &, g Y 1 T1T B

[Question ID = 4415][Question Description = 142_81_GP6_SEP22_S2_Q42]
1 [Option ID = 17657]
2 [Option ID = 17658]
3 [Option ID = 17659]
4 [Option ID = 17660]

Do



38)
In a State government university or Central University, recommendation of the Selection Commiitee for

the recruitment of the faculty is-approved by the

1. Academic Council

2, Executive Council

3, Finance Committee

4, Chancellor of University

50 TR & adfaeey o1 B2y ufaae § Ior 31 4 $ O 999 viEiG o Oeie B 9o
Fgicied gr ey o & ;

1. 3f%® giwg

2, FHUGR UNEG

3. fam ol

4. fayfaene & afyu

[Question ID = 4416][Question Description = 143_81_GP6_SEP22_S2_Q43]
1 [Option ID = 17661]
2 [Option ID = 17662]
3 [Option ID = 17663]
. 4 [Option ID = 17664]

Awo o

39)
Environmental education encompasses the issues of

A. Resource Consumption

B, Envirenmental degradation

C. Biodiversity lass

D. Econemic empowerment

E, Climate change and its impact

Choose the correct answer fram the options given below:

1.A, B, Cand Donly
2.A B CandEonly
3.B,C, D and E only
4,B and Eonly

ggiaRuig Rien | Fefofead 95 e e
A, T 94T

B. TR SaAid

C. 9id fafasEr &1 g1H

D. Hif@ gfFa®s

E, Sieary UiEe Ud 39@] UHE
i< fag 7Ie fased| | 4 Wel 9w 9

1.WaAA, B, C AR D
2. WaAA, B, CARE
3, %99 C DIRE
4 WaaB ANE

[Question ID = 4417][Question Description = 144_81_GP6_SEP22_S2_Q44]



1. 1 [Option ID = 17665]
2. 2 [Option ID = 17666]
3. 3 [Option ID = 17667]
4. 4 [Option ID = 17668]
40)
Given below are twa statements
Statement I: The recommendations af the Radhakrishnan Commission in 1949 resemble those of
Calcutta University Commission in 1917,
Statement Il: The recommendations of the Mudaliar Commission in 1953 resemble those of John
Sergent's post-war Educational Development Plan in 1944,
In light of the above statements, choose the most appropriate answer from the options-given below
1. Both Statement | and Statement Il are correct
2, Beth Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement || is correct
dal e RETEE

HYF - | ; 1949 H YYIHYF TR B1 MBI 1917 H Sadal [ayaaed /M of (Bl & 92y 8|

HYF - |l ; 1953 T HGRR HTAN @ GRS 1944 ¥ G ot & Jg U%7d Jad 99N Jie i
Rreien & 9= 6l

IuGE Y| & HIEIS | FHEiaiad (ool H o Hel St 91 -

1. ®YF | 3R |1 ST T B
2. BYF | SR I GHl e B |
3. WY | Hel &, foog &4 || Tad B
4, BYF | o &, g oA 11 T8 B

[Question ID = 4418][Question Description = 145_81_GP6_SEP22_S2_Q45]
1. 1 [Option ID = 17669]
2. 2 [Option ID = 17670]
3. 3 [Option ID = 17671]
4. 4 [Option ID = 17672]

Topic:- 22 GP_29SEPT22_SH1_S2_C



1)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
bioclogical nature. The nature is remarkably uniform throughout the werld, given the fact that most
contemporary humans outside of Africa descended from a single relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine palitical behaviour, but it frames.and limits
the nature of institutions that are possible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and across cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic viclence (Hobbes) or in pacific ignorance of one another (Rousseau), is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long pericd of time that the cognitive and emotional faculties needed
to promote social cooperation evolved and became hardwired in their genetic endowments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
sacieties and misunderstands the motives that underlie it.

The next one is the idea of natural human scciability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough propeortion te
their :shared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The shared biological nature of humans influsnces

1. The division of social constructs

2. The nature of institutions in seciety
3. The political behaviour of people
4. The formation of social groups



fFafafa Isvu of ue ik Iwfta uia uslf & SR S|
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2. TS | Ry & il

3. 1 T TSdE TaER

4, GO SHEl &1 g

[Question ID = 4419][Question Description = 146_81_GP6_SEP22_S2_Q46]
1. 1 [Option ID = 17673]
2. 2 [Option ID = 17674]
3. 3 [Option ID = 17675]
4. 4 [Option ID = 17676]




2)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially’ construct their own behaviour. They have a shared
biological nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from a-single relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine palitical behaviour, but it frames-and limits
the nature of institutions that are possible. It alsc means that human politics is subject to certain recurring
patterns of behaviour across time and across cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic viclence (Hobbes) or in pacific ignorance of one another (Rousseau), is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emotional faculties needsd
to promote social cooperation evolved and became hardwired in their genetic endowments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
sacieties and misunderstands the motives that underlie it

The next one is the idea of natural human scciability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough propertion te
their :shared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

Human beings did not exist in a pre-social state due to

1. Social kinsfolk
2. Human politics across cultures:
3. Institutional limitations

4, Absence of individual independence



fFafafRa Isvu of ue ik Iwfta uia usf & SR S|

G 94 aaR DI GEIeE diX G FEI B3 @ 08 96 T 3 W09 o & 349 Jia@ig Weld 99
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3)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially’ construct their own behaviour. They have a shared
biological nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from a-single relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine palitical behaviour, but it frames-and limits
the nature of institutions that are possible. It alsc means that human politics is subject to certain recurring
patterns of behaviour across time and across cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic viclence (Hobbes) or in pacific ignorance of one another (Rousseau), is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emotional faculties needsd
to promote social cooperation evolved and became hardwired in their genetic endowments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
sacieties and misunderstands the motives that underlie it

The next one is the idea of natural human scciability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough propertion te
their :shared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

From the author's point of view, the main characteristic of human society has been

1.Anarchic vialence

2. Pacific ignorance of one another
3. Kinship based sccial groups

4, Calculated individual relations
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4)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially’ construct their own behaviour. They have a shared
biological nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from a-single relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine palitical behaviour, but it frames-and limits
the nature of institutions that are possible. It alsc means that human politics is subject to certain recurring
patterns of behaviour across time and across cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic viclence (Hobbes) or in pacific ignorance of one another (Rousseau), is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emotional faculties needsd
to promote social cooperation evolved and became hardwired in their genetic endowments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
sacieties and misunderstands the motives that underlie it

The next one is the idea of natural human scciability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough propertion te
their :shared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The concept of social cooperation involves
A Kin selection

B. Cognitive faculty

C. Emotional detachment

D. Reciprocal altruism

Choose the correct option:

1.A and B only
2.B and Conly
3.Cand Denly
4.A and D only
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5)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially’ construct their own behaviour. They have a shared
biological nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from a-single relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine palitical behaviour, but it frames-and limits
the nature of institutions that are possible. It alsc means that human politics is subject to certain recurring
patterns of behaviour across time and across cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic viclence (Hobbes) or in pacific ignorance of one another (Rousseau), is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emotional faculties needsd
to promote social cooperation evolved and became hardwired in their genetic endowments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
sacieties and misunderstands the motives that underlie it

The next one is the idea of natural human scciability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough propertion te
their :shared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The passage recognisesthe fact that human sociability has

1. Political determinants

2. Rational choice model

3. Integrated collective-action
4, Genetic linkage
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